
-1-

* Color code must be specified when ordering.
*订购时请说明颜色编号。

COMPONENTS 艺廷
SERVICE PARTS PAGE

维修零件图
SCREEN, 1D2P, 10mm

一字型，两固一活，10mm 竖墙材款
K-701801T

1341518-*
End Cover, Solid Glass Wall Jamb
夹固玻墙立柱端盖

1341516-*
Cover, Wall Jamb
墙立柱装饰盖

1341838-*
Components Handle,
Double Handle L=450mm
艺廷拉手，对装，L=450mm

1341929-*
Panel Glass, 
Magnetic Seal, Components
磁条侧固定玻璃(右)

1341524 
Briquetting
下导轨固定件

1341527-* 
Cover, Briquetting Decorative 
下导轨固定件端盖

1341832-* 
Jamb, Door Bottom
两固一活下横梁 

1343926
Magnetic Seal
磁条

1341921-*
Door Glass, Components
门玻(右)

1341932-R
Seal Assy, Moving Glass Bottom, RH
回水槽组件(右)

1341511-R-*
Wall Jamb-R, Insert Glass
夹固玻墙立柱-R

1273872
Screw M4X6
半圆头内六角机制螺丝M4X6

1341605-*
Panel Glass Trolley Body Assy
固玻拉杆夹紧座组件

★ 1341931-*
SS Tube, 10*30, Components
10*30 不锈钢扁管

1331782-*
Trolley Wall Body Assy
拉杆上墙座组件 

1341511-L-*
Wall Jamb-L, Insert Glass
夹固玻墙立柱-L

1341526
Seal, Bottom Door
固玻底下装饰胶条 

1341526 
Seal, Bottom Door
固玻底下装饰胶条 

1341484
Soft Close Hinge, Down
艺廷系列阻尼铰链

1341922-* 
Panel Glass, Components
固定玻璃(右)

1157883 
Insert Seal
单边胶条

1341685
Bubble Seal
泡泡胶条

1341915 
Waterproof Part
铰链密封防水件 

1341483
Soft Close Hinge, Up
艺廷系列闭门铰链 

1341969-*
Cover Assy, Hinge
缓冲铰链外盖组件 

1111937-*
Screw Cover Cap M6 CSK Grey 
螺丝盖帽

1380415-T8-C



-2-1380415-T8-C

P/N零件号 DESCRIPTION描述 COLOR颜色
★1341921 Door Glass, Components, 10mm  门玻璃 10mm

FM, IC

★1341922 Panel Glass, Components, 10mm  固定玻璃 10mm

★1341929 Panel Glass, Magnetic Seal, Components  磁条侧固定玻璃
★1341976-* Panel Glass with Big Shelf, Components 10mm  七件套固定玻璃 10mm

★1341977-* Panel Glass with Small Shelf, Components 10mm  五件套固定玻璃 10mm

★1341511-R-* Wall Jamb-R, Insert Glass  夹固玻墙立柱 -R 2BL, S

★1341511-L-* Wall Jamb-L, Insert Glass  夹固玻墙立柱 -L 2BL, S

★1341832-* Jamb, Door Bottom  两固一活下横梁 2BL, S

★1341516-* Cover, Wall Jamb  墙立柱装饰盖 2BL, S

1341518-* End Cover, Solid Glass Wall Jamb  夹固玻墙立柱端盖 2BL, S

1341527-* Cover, Briquetting Decorative  下导轨固定件端盖 2BL, S

★1341931-* SS Tube, 10*30, Components  10*30不锈钢扁管 2BL, S, RGD, AF, BN

1331782-* Trolley Wall Body Assy  拉杆上墙座组件 2BL, S, RGD, AF, BN

1341605-* Panel Glass Trolley Body Assy  固玻拉杆夹紧座组件 2BL, S, RGD, AF, BN

1341483 Soft Close Hinge, Up  艺廷系列闭门铰链 

1341484 Soft Close Hinge, Down  艺廷系列阻尼铰链
1341969-* Cover Assy, Hinge  缓冲铰链外盖组件 2BL, S, RGD, AF, BN

1111937-* Screw Cover Cap M6 CSK Grey  螺丝盖帽 2BL, CP, RGD, AF, BN

1341838-* Components Handle, Double Handle, L=450mm  艺廷拉手，对装，L=450mm 2BL, S, RGD, AF, BN

★▲1341974
Components Pivot Seal Strip Package Kit, 10mm
艺廷开门密封配件包 10mm

1341685 Bubble Seal  泡泡胶条
1341520 Magnetic Seal  型材内侧磁条

1343926

Magnetic Seal  磁条
( The 1D1P shall be purchased together with 1341520 as a 
pair. The rest shall be purchased in pair. )
(一固一活与 1341520配对购买，其余成对单买 )

1341932-R Seal Assy, Moving Glass Bottom, RH  回水槽组件 (右 )

1341932-L Seal Assy, Moving Glass Bottom, LH  回水槽组件 (左 )

1341526 Seal, Bottom Door  固玻底下装饰胶条
1157883 Insert Seal  单边胶条

▲ 1341975 Components Pivot SP Package Kit
艺廷开门维修配件包

1341524 Briquetting  下导轨固定件

1273872
Screw M4X6 (For locking end cover)
半圆头内六角机制螺丝 M4X6（锁端盖用）

1341528 Screw, Adjust  调节螺杆
1291052 Install Sleeve  安装套管
1341557 Screw M4 *10  十字沉头机制螺钉 M4*10

1150121 Screw, GB/T 845 ST3.5X40盘头十字自攻螺钉 ST3.5X40

1057064 Wall Anchor 膨胀套（入墙胶粒）
1157853 Screw Key 2.5mm  内六角扳手 2.5mm

1095457 Screw Key 3mm  内六角扳手 3mm

1078917 Screw Key 4mm  内六角扳手 4mm

COMPONENTS 艺廷
SERVICE PARTS PAGE

维修零件图
SCREEN, 1D2P, 10mm

一字型，两固一活，10mm 竖墙材款
K-701801T



-3-1380415-T8-C

Note: Components marked in ▲ can only be ordered in whole pack. When ordering components marked in ★ , customers need provide 
measurement form and corresponding product SKU.
注意：带▲标注零件仅可整包订购，带★标注零件订购时需附加测量单和产品SKU号。

Glass options: C, L3, L4, L5, L8, L9, CI, EL, MZ, GB, GG, GA, GR, TA, SW
玻璃花纹可供选择：C, L3, L4, L5, L8, L9, CI, EL, MZ, GB, GG, GA, GR, TA, SW

FM-It is for filmed glass. Please refer to the table for FM glass.
FM-此号码为防爆膜玻璃，配备FM时，只能按照FM玻璃选项参考表指定花纹代码。

IC-It is for laminated glass with easy clean coating. Please refer to the table for IC glass.
IC-此号码为夹层+超净玻璃，配备IC时，只能按照IC玻璃选项参考表指定花纹代码。

COMPONENTS 艺廷
SERVICE PARTS PAGE

维修零件图
SCREEN, 1D2P, 10mm

一字型，两固一活，10mm 竖墙材款
K-701801T

Table for FMSW glass
FMSW 玻璃选项参考表

Table for IC glass
IC玻璃选项参考表

P/N零件号 DESCRIPTION 描述
1291888-L3 思绪花纹，L3
1291888-L4 梅玛花纹，L4
1291888-L5 晨雾花纹，L5
1291888-L8 繁星花纹，L8 
1291888-L9 丝雨花纹，L9
1291888-MZ 镜面玻璃，MZ
1291888-CI 镜面繁星花纹，CI
1291888-EL 镜面银河花纹，EL
1291888-GB 金色夏宫花纹，GB
1291888-C 超净玻璃，C
1291888-GR-NA 墨韵灰，GR
1291888-TA-NA 琥珀棕，TA
1291888-BSZ-NA 金色臻彩绘印图案小，BSZ
1291888-BMZ-NA 金色臻彩绘印图案中，BMZ
1291888-BLZ-NA 金色臻彩绘印图案大，BLZ
1291888-GSZ-NA 灰色臻彩绘印图案小，GSZ
1291888-GMZ-NA 灰色臻彩绘印图案中，GMZ
1291888-GLZ-NA 灰色臻彩绘印图案大，GLZ

P/N零件号 DESCRIPTION 描述
1291888-GG-NA 烟云灰，GG
1291888-GA-NA 旭日金，GA


